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AR € 1A e
0 $10,000 &5 WWP,
1 1 81 A) 1048 A N &35 FE5
B 5 AREBKE - AREBKE
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2.1.1 BAE TR EEH

o 7 Fm A58 $10,000
o WWPAIBAE #: $0.10

e A H W R % 11.81%

# A USDT ISR AT By WWP

R KA

~ $10.000 * 11.81% — ($10.000 / $0.10) * 100%

= $1,181 = 100,000 4X, #*
1 8% 3,000 $0.10 $800
2 8% 3,000 $0.15 $1,200
3 3% 3,000 $0.20 $1.600
4 9% 9,000 Prp Pr?
5 9% 9,000 Prp Pr?
6 9% 9,000 Prp Pr?
/ 10% 10,000 Pr? Pr?
3 10% 10,000 Pr? Pr?
9 10% 10,000 Pr? Pr?
10 19% 19,000 PP? PrP
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2.1.1 BAE TR EEH

o 5 Jw45E: $10,000
WWP}\%F';}% $0.10

pay

o 45 F e dm % 11.81%
1 11.81%  $1,181 8% $0.10 $800 $1,981 19.81%
2 11.81%  $1,181 8% $0.15 $1,200 $2,381  23.81%
3 11.81%  $1,181 8% $0.20 $1,600 $2,781  27.81%
11.81%  $1,181 9% PPp PP
11.81%  $1,181 9% PPp Pr?
11.81%  $1,181 9% PPp PP
11.81%  $1,181 10% PPp Pr?
11.81%  $1,181 10% PPp PP
11.81%  $1,181 10% PPp Pr?
11.81%  $1,181 19% PPp PP
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ey 4 8(20%)
A HEF 3w $10,000

15 By B2 288
= $10,000 * 11.81% * 20% = $1,181 * 20%
= $236.20

e E&: g 8050%)
A EF 3w $10,000

15 6y L3 3B
= $10,000 * 11.81% * 50% = $1,181 * 50%
= $590.50

18548 4h4(100%)
A4 ABE 39 0 $10,000
AWEE g 8(50%)
A H 4f B,28% F7: $5,000

15 0y B3 228

= ($10,000 * 11.81% * 100%) +
($5,000 * 11.81% * (100%-50%))

= ($1,181 * 100%) + ($590.50 * 50%)

= $1,181 + $295.25

= $1,476.25
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#g A - - - -

5 B - - - *5%
s 10% 2% | 2% | 2% 3% | 3% | 3% 20%

5 4~ 20% 2% | 2% | 2% 3% | 3% | 3% 25%
BER G 30% 2% | 2% | 2% 3% | 3% | 3% 30%

E 40% 2% | 2% | 2% 3% | 3% | 3% 35%
o 50% 2% | 2% | 2% 3% | 3% | 3% 40%
Az £ ERE

WS H& or o -

9 1% 4 B )

WinwinPay &g & B 2 Bh ) B, 22 & 18 B B
4 R B & 4F USDT sz WWP A N, [
FEMPTH, AP WEZ K e K [ %
2 869 10% USDT s ek, =G
i | #E | 4889 50%, sui, AR T
FUUR TR T % ik 40% 8 WWP R
R BB, AR T & HIFH -k HEE K
WHAE 69 AR,

d
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231 EFREE - WERHEL

o MRBGEE - E 4 (10% USDT, 20% WWP)

© B R&H %‘T’ $100,000
o WWP A 354{E 4% : $0.10

WWP ’f’i “v'%‘.m$:

= ($100,000 / $0.10) * 20%
= 1,000,000 * 20%

& A B

#% & (USDT):

= $100,000 * 11.81% * 10%
— $11.810 * 10%

pay

= $1.181 = 200,000 4X, %
1 3% 30,000 16,000 $0.10 $1,600
2 3% 30,000 16,000 $0.15 $2,400
3 3% 30,000 16,000 $0.20 $3,200
4 9% 90,000 13,000 Pe? Pe?
5 9% 90,000 18,000 Pe? Pe?
0 9% 90,000 13,000 Pe? Pe?
/ 10% 100,000 20,000 Pe? Pe?
3 10% 100,000 20,000 Pe? Pe?
9 10% 100,000 20,000 Pe? Pe?
10 19% 190,000 38,000 Pe? Pe?
winwin
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232 BEBIEE) —

o REHELL 44 (20% USDT, 25% WWP)
% 89 4 4% &4 (10% USDT, 20% WWP)

.k
o [ PRk

e WWP N3AE 44 : $0.10

vl I

Iu/

v : $800,000

P Y <
2 H B %R
% i (USDT):
= ($800,000 * 11.81%) *
(20% -10%)
= $94.480 * 10%
= $9,448
1 8% 640,000
2 8% 640,000
3 8% 640,000
4 9% 720,000
5 9% 720,000
6 9% 720,000
7 10% 800,000
8 10% 800,000
9 10% 800,000
10 19% 1,520,000
winwin
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BTy WWP

AR ROk S §
= ($800,000 / $0.10) *

(25% - 20%)

32,000
32,000
32,000
36,000
36,000
36,000
40,000
40,000

40,000

238,300

= 8,000,000 * 5%
= 400,000 4X, #*

$0.10

$0.15

$0.20
Por
Por
Por
Por
Por
Por

Por

$3,200

$4.800

$6,400
2P?
2P?
2P?
2P?
2P?
2P?

Por
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241 ApE AR - KR EHI

o 145545 454 (5% USDT, 5% WWP)

. % % 48 17 : $800,000
e WWP A IBAE 4 $0.10

#F A% BTy WWP

3¢ & (USDT): R

= $800,000 * 11.81% * 5% = ($800,000 / $0.10) * 5%

= $94.480 * 5% = 8,000,000 * 5%

= $4.724 = 400,000 4X, #*
1 3% 640,000 32,000 $0.10 $3,200
2 3% 640,000 32,000 $0.15 $4,800
3 3% 640,000 32,000 $0.20 $6,400
o} 9% 720,000 56,000 Por Por
5 9% 720,000 36,000 Por Por
0 9% 720,000 56,000 Por Por
7 10% 300,000 40,000 Por Por
3 10% 300,000 40,000 Por Por
9 10% 300,000 40,000 Por Por
10 19% 1,520,000 238,300 Por Por
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242 AR - &R EH2

o R 8GR ;3'5#’(15% USDT, 15% WWP)

. I aﬁg Y54 % F 6 (10% USDT, 10% WWP)
U A7 96, 000, 000

e WWP AIB/E#: $0.10

#F A4 AT

4& &y (USDT): WWP AX, G 3

= ($6,000,000 * 11.81%) * = ($6,000,000 / $0.10) *

(15% -10%) (15% - 10%)

= $708.,600 * 5% = 60,000,000 * 5%

= $35,430 = 3,000,000 4%, ¥
1 8% 4 800,000 240,000 $0.10 $24.000
2 8% 4 800,000 240,000 $0.15 $36,000
3 8% 4 800,000 240,000 $0.20 $48,000
4 9% 5,400,000 270,000 Pry Pr?
5 9% 5,400,000 270,000 °ry Pry
§ 9% 5,400,000 270,000 Pry Pr?
/ 10% 6,000,000 300,000 °ry °ry
3 10% 6,000,000 300,000 Pry °rr
9 10% 6,000,000 300,000 °ry °ry
10 19% 11,400,000 570,000 Pry Pr?
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100%
90 %
80 %
70%
60 %
50 %

40 %

B ks (%)

30%

20%

10%

0%

01-05 06-08 09-11 12-14 15-18
BH (A ARLL)

o JZ ez - $10,000
o WWP N34 #%: $0.10

1M AT G WWPR W 48
= ($10,000 / $0.10) * 100%
= 100,000 4%, ¥

= ($10,000 / $0.10) * 70%
= 70,000 4%, ¥
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7N

* S H BT X

Hipoér: N/A Haposr 11.81%
AAESER : 20% HAEHEE): 50%
B bk 2E By (USDT): N/A ) B 3€ ) (USDT): N/A
B % 38 B F) 4% 48 (USDT): N/A B % 3¢ B ) 48 3¢ (USDT): N/A
M G € By A8 4 #& (USDT): N/A ) % 2 EhAg 4k 28 (USDT): N/A
B B2 @) (WWP): N/A B G By (WWP): *5%
LA 48 g (USDT): N/A LA 48 g (USDT): N/A
A4 E) (WWP): N/A LA A B (WWP): N/A

11.81% KA 54 11.81%

: 100% A E : 100%
B bk 8¢ By (USDT): 10% B Y By (USDT): 20%

M B 2 B Bl 48 #& (USDT): 2% | 2% | 2% B B 3 B B 4848 (USDT): 2% | 2% | 2%
M G 8 Ehae 4 #& (USDT): 3% | 3% | 3% B B 3 B AB 48 4 (USDT): 3% | 3% | 3%
) B 28 @ (WWP): 20% B B 3 B (WWP): 25%
LA 48 g (USDT): N/A 55 3 3% By (USDT): 5%
LA 48 Eh (WWP): N/A 5 48 3% B (WWP): 5%

winwin
pay



) [ 4€ &) (USDT):

) 5 28 B 5] 48 28 (USDT):
B % 25E By A2 47 28 (USDT):
= 5 4E g (WWP):

484 48 gy (USDT):

R A (WWP):

CEL P
A AR

) Pk 2 By (USDT):
) % 2€ B ) 47 28 (USDT):
B % € By A2 47 28 (USDT):

) % 4E B (WWP):

A 4 g (USDT):

R4 E) (WWP):
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: 100%

30%
2% | 2% | 2%
3% | 3% | 3%
30%

10%

10%

% 5
N

11.81%

100%

50%

2% | 2% | 2%
3% | 3% | 3%
40%

20%

20%

B -4L

A

= B 4€ gy (USDT):

B % 28 B 5] 48 3¢ (USDT):

B % 28 B A 45 48 (USDT):

) B 4E By (WWP):
484 48 )gh (USDT):

AR (WWP):

11.81%

100%

40%

2% | 2% | 2%
3% | 3% | 3%
35%

15%

15%
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USDT # Bhé% &, USDT3z4 Bk 4% €L
53 E A B % iGaming P & JE 4t s
. i e 33
g B A 0 A0 e F A
Bt i AN T AARE -Lﬂ%ﬁﬁgﬁﬁ&%@ﬁ%
WWP 4%, #e % USDT 4% e 1780k, AR
$t iGaming F & 69 915 42 9t
B,
2258 15 18 BT B I A WW AR,
g B 1EA1F69 WWP X #8682

B, VEA %P6 WWP X G20
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AtVEr-F& LBEITERE RGN

[ BR#E | (gas fee) o
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1. 8 37 & 3 30 35 B Eh
HITRENZ TP A, B RE TR E THRBFIE
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2. HIWER
FEE IR ER TR AL $381 , B THIT S BMEL, /4
bk B 3 % VT E 47 10 {8 B £
3. 3t 3
o B EEHE TRAER AL NN ERK, &
T ANTIEAFAR 11% &9 8y (Matke 8 gAT84E4 8 5
THMIEH 11.81%) o
4. HFREHEER
& B A H L AR ARAT WIB8EH:
o JE R A EEFE: A8 App EATFHFS
s HHBTHEAES: (KRSHXHAFEENTE) A
iGaming F+4 L R RAEFH, UIEIFHH K4
R AREBRAEFS, & B & KB IRETE A

5. 372 aE % B A
o AL 30 R NLOL AR, T4 HRR 15%
di By ABiB 30 KR RKIUE A B A,
o HORHATEE, KM SRR E4 A6 USDT & 6.
o WL HIPAREE, EME L 2% KA R, SR A
b B4 & B 69 WWP X HE 8% 6, Jo k.

6. BEH WWP 4 % FRH]
& B %74 Al USDT-BONUS 4% ¢2,85 5 WWP 4% # .

7. BT
A E B KRG B T M REHLR w800 H 475
BARAEM AL AHEST S | WWP F 39800 H A X
FEEA, B B /A AT M E £ 6B
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